AW, . =AU —AQ - _
A(] AQ -I_ A W mech AQ ZJ: AI/V; AQ Q}rembo/i:mus + Qvg_g_-mgfg Jo = -kNT BMR = d Q I
= _ Al] = A -
E E -I-Ekin-l-L ﬂSu (T ): AHm >0 _%gzh (Tb —Ti ) 14 DVC dt nyugalom S_k an TAS pAV+Z/JfAni+“‘+
1 op y: t ¢ oF evegd dm i=l
’ P dl
S Sferm +Sﬁonf = dE V——e +—e +_e A5 pv BMR - (1) PE’HH i K D
AS E:Ibe-l-[ki:] ox (\ 07~ df d]' C.n?b
_ S(T —rq
e~m R (x In X, t Xp Inx ) BMR « mjm dc _ s ﬁpE — Vj, = div j %:,M = I TJFASW’?" AS -[ il dT
! 4 EV - E Ax
R=so(L'~T') e _ % “ E 2 ) I
1 2 . or oc oc 2 (V + N )T
d ol V]” _dTV'f T=(1V2T — | =D —=aV T W=-= >’ 0. AH
dp. 1dE__1_dE ot o RAIG ( H ot oF ) o N LN, As=ckr o Dher
diVd () dt g . - i : Ty T
o*¢c 2 éc SN 7 B7Y , .5 - . N
o . (E D’{f‘rc +(‘(J C(.\)——[\m .‘H‘]\W'Cb e 2P _RT Cor (f) 0, -1 Jn = DVe OQ 60
¢ (x1)==2|1-ef FJ : o by == == T =g 6 (47D) Jo=—kVT | > = ds. G JT <0
1 en)] i=[i+aty-1) 2 1 2 G E r=pVv j‘ =-nVv or )y \oTJ, o T T
_ 2 _ n = i
_ kT _RT ok f/”o”—(f(ix—/ix) R popitpgh=honst.  20H) 90 ) ok
S M, o I R.2 R = vdp P, = Jn K,D dt P ) dt rC,
v ) v = CAP ] AP APR2 [ e M Ac d
ppctar _Lv _F 7% r o 2P, ) E (R 12 7 _49 _ ; av 4
= T Tt T Rz Gy &L 2 - ) [1 R . —==an-( Pl =Pl )= Q /. BMR
konv AS 770 D= kBT C’k q: N1_3] : v :R__ AP }/ _ dux (y) [ dt dt
6 Rea N5 Reg N2 1,70, dpoL S A e,
]V - R AP n=n, (1+2 5@) — Tna I m - S m R Cls ]Vm ’75}7 ’7;.,] U dy A =E—— ] o =D-div- (gfad Ci) DV c,
87 L n=n, (1+V(I)) E__ :sm(.'-';‘r?%hré+¢') fi*f:h*% U(T)=770-exp[1§"TJ [77] lim - My 4
g 20 e =22 dy d[du, d (d :
> M, 3 M’ A N Nred = = _[ x u, | dv,
M, :lz:—”, :_’Z:”M f[ = f—T(%j Z"Sﬂt‘"é = Z‘Drraszbor |fD| _ 2VR COSﬁf f77 = 672770 % € di di\ dy dy dt ) dy
Y a er_ J —x _ —:: o fi=fl 1+ M Vv (v Do = i::m Tk +?rkm P Flyyy ¢f=—= a
1 =T[_J =J,e" =Je™ =f1= M| Af—fy 42 Ry _ti-tk r':fluﬁJ e T s Voo
o ),y . 7y ' c 2Tcosd v ¢ P_=konst+U’=I=Z | ;;_1
- g —-=¢e(A)rc*l . rgcosfx—mmsy 2 _-AVIV : K 't ] £ |qU=3my =hf, =h--
w-lvh . U m} A g Ap onst=1.1%10 ° 1/V L
Zﬂrsm@_ ,.J 2 1 v AU.vissz =—Y R:w Z‘ 22 33 Pl *
p -I—I— n S =S _1,2 vsszacsatolt — 1 Tn —konsi=i7° A = h Ci
whlv d=~A D 421220082-:1 P et [ | €= Jox e = q, U
e h h ) = —
= 2= Ds o1 g2 £ F (20080 +2,cos7)° = i X p
5 f=——=—5] s~ 3 2 1608%) D = Pryay SN @t —— 7P _ Pra — I cos ©
. g = /h\ G, L % "R ~(cysine o " ‘3) V' Vinax 'uZ mS _mSh COS E
‘ﬂ]’:EIL’ 4@ 'y=asm[ G, ] —f Pﬂ:iuﬂz J 1 2 [7_¢ o — 41 .
\ wm . = = =cp|= ., ey
/ Ap(t, x) = APmax Slﬂ|:2;r ?—iﬂ “ ZAPQH Ve E 2“ B L=Lo- ¥ * COS¢
A A
Ug|= _ L ) Prmax ce7 K= l_ . 1 . AF =
| | 477,7’}’1 ,LlB c T :;'wmc =r-a Vma:( =P mm" ) K(I’ >= ;k};T fRz-"la:hg = 2.[._,.[‘ :L;' s £ E E (EG - Ewdgn ) (E Ema ot 1)
= I L =u.B
— = : ey i s fi;Boos ¢+, Boos g2
2B =hf Euar= IAGTE)  AGHE)= (- f@)*(AGE -AGE™) x5 5= s
L:e_ﬁ ' ! ! r=TL L’ ﬁ E_ﬂf_- !'J'_E‘ £ E% _0’61 l k/(n ) Slnm)
N, . ) ’
E =W E, +W,_E,
o+ V 7
= 4, % +lp;:)l 1:10[ ot | l"'[epE W solv Eso]v W pair Ep:m L 11§m natom [ -)A(—,free ﬁﬁ( free
mbeny Embeny + Whbond Etbond — Eref solv = E l \J v:xp[ —{l‘ )l + —exp[ 2 )"'
~“ | da~Nair, da~a i r; J



